

**Courses, Modules & Teachers**

SN	Courses	Modules	Teachers	Teacher-Student Ratio	Money Payable
1	Cambridge Primary (Year 1)	<ol style="list-style-type: none">1. English (First Language)2. Mathematics3. Foreign Language at L2 (Bengali, Hindi, Punjabi, Tamil, Urdu)4. Art5. Science6. Music7. Information Communication Technology (ICT)8. Global Perspectives (TSDP)9. Physical Education	Natasha Nautiyal Maksuda Almazi Alagumalai Sulochana Reena Gupta Tam Joo Ee Surinderjit Singh Marinah Yatim Mysore Ramaradhy Swathi Alicia Teo Jesintha Aseerpatham Rima Biswas Priyaa Tharshiny T. Sampater Pranjali Sonowal Nishalini D/O Lakchimanathas Sudha Joshi Afshan Sharfudeen Thangarudai Vanitha Neetu Gupta	1:25	Registration Fee: \$194.40 (a/f GST) Onetime Payment: \$947.80 (a/f GST) Books fee: \$194.40 Misc Fee: \$269.40 Uniform Fees: 214.00 Online portal: \$86.40 Library Fee: \$86.40 Examination Fee: \$97.20 Fee Protection Scheme (FPS): \$240 Course Fee: (\$899.25 x 12) \$10,791 (a/f GST) Total Annual Fees: \$12,173.20 (a/f GST)
2	Cambridge Primary (Year 2)	<ol style="list-style-type: none">1. English (First Language)2. Mathematics3. Foreign Language at L2 (Bengali, Hindi, Punjabi, Tamil, Urdu)4. Art5. Science6. Music7. Information Communication Technology (ICT)8. Global Perspectives (TSDP)9. Physical Education	Natasha Nautiyal Maksuda Almazi Alagumalai Sulochana Reena Gupta Tam Joo Ee Surinderjit Singh Marinah Yatim Mysore Ramaradhy Swathi Alicia Teo Jesintha Aseerpatham Rima Biswas Priyaa Tharshiny T. Sampater Pranjali Sonowal Nishalini D/O Lakchimanathas Sudha Joshi Afshan Sharfudeen Thangarudai Vanitha Neetu Gupta	1:25	Registration Fee: \$194.40 (a/f GST) Onetime Payment: \$1,010.20 (a/f GST) Books fee: \$256.80 Misc Fee: \$269.40 Uniform Fees: 214 Online portal: \$86.40 Library Fee: \$86.40 Examination Fee: \$97.20 Fee Protection Scheme (FPS): \$240 Course Fee: (\$899.25 x 12) \$10,791.00 (a/f GST) Total Annual Fees: \$12,235.60 (a/f GST)

SN	Courses	Modules	Teachers	Teacher-Student Ratio	Money Payable
3	Cambridge Primary (Year 3)	1. English (First Language) 2. Mathematics 3. Foreign Language at L2 (Bengali, Hindi, Punjabi, Tamil, Urdu) 4. Art 5. Science 6. Music 7. Information Communication Technology (ICT) 8. Global Perspectives (TSDP) 9. Physical Education	Natasha Nautiyal Maksuda Almazi Alagumalai Sulochana Reena Gupta Tam Joo Ee Surinderjit Singh Marinah Yatim Mysore Ramaradhy Swathi Alicia Teo Jesintha Aseerpatham Rima Biswas Priyaa Tharshiny T. Sampater Pranjali Sonowal Nishalini D/O Lakchimanathas Sudha Joshi Kashmir Singh Afshan Sharfudeen Thangarudai Vanitha Neetu Gupta	1:25	Registration Fee: \$194.40 (a/f GST) Onetime Payment: \$1,010.20 (a/f GST) Books fee: \$256.80 Misc Fee: \$269.40 Uniform Fees: 214 Online portal: \$86.40 Library Fee: \$86.40 Examination Fee: \$97.20 Fee Protection Scheme (FPS): \$240 Course Fee: (\$899.25 x 12) \$10,791.00 (a/f GST) Total Annual Fees: \$12,235.60 (a/f GST)
4	Cambridge Primary (Year 4)	1. English (First Language) 2. Mathematics 3. Foreign Language at L2 (Bengali, Hindi, Punjabi, Tamil, Urdu) 4. Art 5. Science 6. Music 7. Information Communication Technology (ICT) 8. Global Perspectives (TSDP) 9. Physical Education	Natasha Nautiyal Maksuda Almazi Alagumalai Sulochana Reena Gupta Tam Joo Ee Surinderjit Singh Marinah Yatim Mysore Ramaradhy Swathi Alicia Teo Jesintha Aseerpatham Rima Biswas Priyaa Tharshiny T. Sampater Pranjali Sonowal Nishalini D/O Lakchimanathas Sudha Joshi Kashmir Singh Afshan Sharfudeen Thangarudai Vanitha Neetu Gupta	1:25	Registration Fee: \$194.40 (a/f GST) Onetime Payment: \$1,010.20 (a/f GST) Books fee: \$256.80 Misc Fee: \$269.40 Uniform Fees: 214 Online portal: \$86.40 Library Fee: \$86.40 Examination Fee: \$97.20 Fee Protection Scheme (FPS): \$240 Course Fee: (\$899.25 x 12) \$10,791.00 (a/f GST) Total Annual Fees: \$12,235.60 (a/f GST)

SN	Courses	Modules	Teachers	Teacher-Student Ratio	Money Payable
5	Cambridge Primary (Year 5)	1. English (First Language) 2. Mathematics 3. Foreign Language at L2 (Bengali, Hindi, Punjabi, Tamil, Urdu) 4. Art 5. Science 6. Music 7. Information Communication Technology (ICT) 8. Global Perspectives (TSDP) 9. Physical Education	Natasha Nautiyal Maksuda Almazi Alagumalai Sulochana Reena Gupta Tam Joo Ee Surinderjit Singh Marinah Yatim Mysore Ramaradhy Swathi Alicia Teo Jesintha Aseerpatham Rima Biswas Priyaa Tharshiny T. Sampater Pranjali Sonowal Nishalini D/O Lakchimanathas Sudha Joshi Kashmir Singh Afshan Sharfudeen Thangarudai Vanitha Neetu Gupta	1:25	Registration Fee: \$194.40 (a/f GST) Onetime Payment: \$1,010.20 (a/f GST) Books fee: \$256.80 Misc Fee: \$269.40 Uniform Fees: 214 Online portal: \$86.40 Library Fee: \$86.40 Examination Fee: \$97.20 Fee Protection Scheme (FPS): \$240 Course Fee: (\$899.25 x 12) \$10,791.00 (a/f GST) Total Annual Fees: \$12,235.60 (a/f GST)
6	Cambridge Primary (Year 6)	1. English (First Language) 2. Mathematics 3. Foreign Language at L2 (Bengali, Hindi, Punjabi, Tamil, Urdu) 4. Art 5. Science 6. Music 7. Information Communication Technology (ICT) 8. Global Perspectives (TSDP) 9. Life Skills 10. Physical Education	Natasha Nautiyal Maksuda Almazi Alagumalai Sulochana Reena Gupta Tam Joo Ee Surinderjit Singh Marinah Yatim Mysore Ramaradhy Swathi Alicia Teo Jesintha Aseerpatham Rima Biswas Priyaa Tharshiny T. Sampater Pranjali Sonowal Nishalini D/O Lakchimanathas Sudha Joshi Kashmir Singh Afshan Sharfudeen Thangarudai Vanitha Neetu Gupta	1:25	Registration Fee: \$194.40 (a/f GST) Onetime Payment: \$1,010.20 (a/f GST) Books fee: \$256.80 Misc Fee: \$269.40 Uniform Fees: 214 Online portal: \$86.40 Library Fee: \$86.40 Examination Fee: \$97.20 Fee Protection Scheme (FPS): \$240 Course Fee: (\$899.25 x 12) \$10,791.00 (a/f GST) Total Annual Fees: \$12,235.60 (a/f GST)

SN	Courses	Modules	Teachers	Teacher-Student Ratio	Money Payable
7	International General Certificate of Secondary Education (IGCSE) (Year 7)	1. English (First Language) 2. Mathematics 3. Foreign Language at L2 (Bengali, Hindi, Punjabi, Tamil) 4. Art 5. General Science 6. Humanities (Geography/ History/ Literature) 7. Physical Education 8. Global Perspectives (TSDP) 9. Information Communication Technology (ICT)	Kashmir Singh Natasha Nautiyal Maksuda Almazi Alagumalai Sulochana Reena Gupta Tam Joo Ee Surinderjit Singh Marinah Yatim Mysore Ramaradhy Swathi Alicia Teo Jesintha Aseerpatham Rima Biswas Pranjali Sonowal Nishalini D/O Lakchimanathas Sudha Joshi Afshan Sharfudeen Thangarudai Vanitha	1:25	Registration Fee: \$239.80 (a/f GST) Onetime Payment: \$1,691.20 (a/f GST) Books fee: \$623.00 Misc Fee: \$302.20 Uniform Fees: \$239.80 Online portal: \$87.20 Library Fee: \$130.80 Laboratory & HE Fee: \$130.80 Examination Fee: \$174.40 Fee Protection Scheme (FPS): \$300 Course Fee: (\$1,395.20 x 12) \$16,742.40 (a/f GST) Total Annual Fees: \$18,673.40 (a/f GST)
8	International General Certificate of Secondary Education (IGCSE) (Year 8)	1. English (First Language) 2. Mathematics 3. Foreign Language at L2 (Bengali, Hindi, Punjabi, Tamil) 4. Art 5. Science (Biology) 6. Science (Chemistry) 7. Humanities (Geography) 8. Physical Education 9. Global Perspectives (TSDP) 10. Information Communication Technology (ICT)	Kashmir Singh Natasha Nautiyal Maksuda Almazi Alagumalai Sulochana Reena Gupta Tam Joo Ee Surinderjit Singh Marinah Yatim Mysore Ramaradhy Swathi Alicia Teo Jesintha Aseerpatham Rima Biswas Pranjali Sonowal Nishalini D/O Lakchimanathas Sudha Joshi Afshan Sharfudeen Thangarudai Vanitha	1:25	Registration Fee: \$239.80 (a/f GST) Onetime Payment: \$1,691.20 (a/f GST) Books fee: \$623.00 Misc Fee: \$302.20 Uniform Fees: \$239.80 Online portal: \$87.20 Library Fee: \$130.80 Laboratory & HE Fee: \$130.80 Examination Fee: \$174.40 Fee Protection Scheme (FPS): \$300 Course Fee: (\$1,395.20 x 12) \$16,742.40 (a/f GST) Total Annual Fees: \$18,673.40 (a/f GST)

SN	Courses	Modules	Teachers	Teacher-Student Ratio	Money Payable
9	International General Certificate of Secondary Education (IGCSE) (Year 9)	1. English (First Language) 2. Mathematics 3. Foreign Language at L2 (Bengali, Hindi, Punjabi, Tamil) 4. Art 5. Science (Biology) 6. Science (Chemistry) 7. Science (Physics) 8. Humanities (Geography) 9. Commerce (Accountancy) 10. Physical Education 11. Global Perspectives (TSDP) 12. Information Communication Technology (ICT)	Kashmir Singh Natasha Nautiyal Maksuda Almazi Alagumalai Sulochana Reena Gupta Tam Joo Ee Surinderjit Singh Marinah Yatim Mysore Ramaradhyha Swathi Alicia Teo Jesintha Aseerpatham Rima Biswas Nishalini D/O Lakchimanathas Sudha Joshi Afshan Sharfudeen Thangarudai Vanitha	1:15	Registration Fee: \$239.80 (a/f GST) Onetime Payment: \$1,691.20 (a/f GST) Books fee: \$623.00 Misc Fee: \$302.20 Uniform Fees: \$239.80 Online portal: \$87.20 Library Fee: \$130.80 Laboratory & HE Fee: \$130.80 Examination Fee: \$174.40 Fee Protection Scheme (FPS): \$300 Course Fee: (\$1,395.20 x 12) \$16,742.40 (a/f GST) Total Annual Fees: \$18,673.40 (a/f GST)
10	International General Certificate of Secondary Education (IGCSE) (Year 10)	1. English (First Language) 2. Mathematics 3. Foreign Language at L2 (Bengali, Hindi, Punjabi, Tamil) 4. Art 5. Science (Biology) 6. Science (Chemistry) 7. Science (Physics) 8. Humanities (Geography) 9. Commerce (Accountancy) 10. Physical Education 11. Global Perspectives (TSDP) 12. Information Communication Technology (ICT)	Kashmir Singh Natasha Nautiyal Maksuda Almazi Alagumalai Sulochana Reena Gupta Tam Joo Ee Surinderjit Singh Marinah Yatim Mysore Ramaradhyha Swathi Alicia Teo Jesintha Aseerpatham Rima Biswas Nishalini D/O Lakchimanathas Sudha Joshi Afshan Sharfudeen Thangarudai Vanitha	1:25	Registration Fee: \$239.80 (a/f GST) Onetime Payment: \$1,691.20 (a/f GST) Books fee: \$623.00 Misc Fee: \$302.20 Uniform Fees: \$239.80 Online portal: \$87.20 Library Fee: \$130.80 Laboratory & HE Fee: \$130.80 Examination Fee: \$174.40 Fee Protection Scheme (FPS): \$300 Course Fee: (\$1,395.20 x 12) \$16,742.40 (a/f GST) Total Annual Fees: \$18,673.40 (a/f GST)

SN	Courses	Modules	Teachers	Teacher-Student Ratio	Money Payable
11	Cambridge International AS & A-Level (Year 11)	1. English Language (AS Level) 2. General Paper (AS Level) 3. Mathematics 4. Biology 5. Chemistry 6. Physics 7. Geography 8. Accounting 9. Information Technology (IT)	Kashmir Singh Natasha Nautiyal Marinah Yatim Mysore Ramaradhy Swathi Rima Biswas Nishalini D/O Lakchimanathas Sudha Joshi Afshan Sharfudeen Thangarudai Vanitha	1:10	Registration Fee: \$261.60 (a/f GST) Onetime Payment: \$1,784.77 (a/f GST) Books fee: \$628.87 (Max 5 Subjects) Misc Fee: \$364.00 Uniform Fees: 250.70 Library Fee: \$130.80 Laboratory & HE Fee: \$216.00 Examination Fee: \$194.40 Fee Protection Scheme (FPS): \$336.00 Course Fee: (\$1,580.50 x 12) \$18,966.00 (a/f GST) Total Annual Fees: \$21,348.37 (a/f GST)
12	Cambridge International AS & A-Level (Year 12)	1. English Language (AS Level) 2. General Paper (AS Level) 3. Mathematics 4. Biology 5. Chemistry 6. Physics 7. Geography 8. Accounting 9. Information Technology (IT)	Kashmir Singh Natasha Nautiyal Marinah Yatim Mysore Ramaradhy Swathi Rima Biswas Nishalini D/O Lakchimanathas Sudha Joshi Afshan Sharfudeen Thangarudai Vanitha	1:10	Registration Fee: \$261.60 (a/f GST) Onetime Payment: \$1,784.77 (a/f GST) Books fee: \$628.87 (Max 5 Subjects) Misc Fee: \$364.00 Uniform Fees: 250.70 Library Fee: \$130.80 Laboratory & HE Fee: \$216.00 Examination Fee: \$194.40 Fee Protection Scheme (FPS): \$336.00 Course Fee: (\$1,580.50 x 12) \$18,966.00 (a/f GST) Total Annual Fees: \$21,348.37 (a/f GST)